W pE H %

SEREBIAE 34 31 H BIFE

(HAL 2 [9)
TR FEEL H T - WSS fi i H A #H
s B8 7))
B TEA W i T JHEIEE & LT 42,361, 819
SFHEARIT AT SE
ERINE WY R 7ok 3 2 AR A SOHER At B s 2R e s 11,571, 753
HIPEpE RERs B 27tk 2,852, 157
16 H EHERE2 Eﬂﬂ 1,207, 785
el R 0 R AR s 2 AT Rt 751, 525
f&ﬁ%ﬁvx%M‘é%‘ﬁ%%%ﬁﬁﬁ 535, 000
NHRAGETEEN - R 437, 495
A - e TR AR SR HEEZRERE 400, 000
FREMRE FIRAC g T 376, 167
ISR ST R Z e 174, 555
FLbREL 2 — R R 104, 733
REITHT DRI H3L4E3A 4y %% 552, 500
Ce R v 2 — H314E2H 41 + 3 srib R 5, 663, 993
PRI DAL 4
SRR LN E b i ab RV = e T A — WS 3, 538, 268
B PE A AT 70, 527, 750
([ E & )
JEARRPE 0
R E G JRIRRAR 51 24 B WS P A BN 2 IR Mk S A 4, 470, 856
ZZEHURURJERIT T S fiiz7=b o
TERERL R W A BT L LTEIER TS 5, 446, 066
SFHAEART BT SOE THAE
HRERSE MG | EiEe AIAMFEETHLAREOTRIGE LT 16, 888, 675
SFHAEARIT AT SE FHINTWDHESE
R A ) U R N N L ASAMFETHLIFERAESL LT 1, 500, 000
SFHAEARIT AT SE FHINTWDHESE
& O E W 10555 63. 10nf Atg ARRAEMETH Y . A EK 17,231,183
10652 52.82nf FHEREBMIMHEA L TND
WY FH 17 T FH 587
= 27 B TR Atg ARRAEMETH Y . A EK 1
FELERBIMEHLTND
A0 AP A= Aig ARRAEMETH Y . A EK 1,849, 778
FELERBIMEHLTND
T+ 1081. 62nt Atg ARRAEMETH Y . A AR 54,924, 832
(B MESI A 12, 267/218, 858) FEREARIERALTND
WY FH 17 T FH 587
RGN AKE AtE ARRAEMETH Y . A EK 58, 000
FELERBIMEHLTND
[ P AT 102, 369, 391
HEEA R 172, 897, 141
(B A fE)
ES % Ea = o e S T FHEEEFY 6, 225, 000
HEfEREZ A - 4 4,592, 720
A FEREE A - T 2, 267, 440
el SR SR 2T - Y 176, 000
156 7 A VLM GEREZR A - B TY 6,510, 000
RER - HETY 4, 367, 900
SHERPEZREE - BT 10, 653, 768
KA RS - BTN 4,736, 000
FERSWFE ARSI - T4 12, 833, 100
IR AR - BT 2, 160, 000
FES W F RS - B TY 540, 000
FLbREL X IR - B TY 166, 800
FREE R O AL HPEfRfdt o 2 —%%  H3L4E3H 3kt 2,330, 076
PO AE =
Z DDA e # B 1, 628, 500
FEERR T S 2, 876, 166
Y & HEEBROREIC TR T AL 1,074, 659
XY 4 thRBRE 173, 421
TE M RBE 483, 095
fERBL 62, 170
A4 W29 % Hiisz 4 WAEEE ARG - % 132, 000
4 BRI DA ERES e S v 730, 000
T A fEa s 64, 718, 815
([ E A )
IRRAR T 5124 4 TEEEROEBICHT 2 TEEE KR O BICxT 2 Bk 4 5,622, 856
K512 4 KA 2 7= b D
[ % P A T 5, 622, 856
Afffaat 70, 341, 671
IERRR PE 102, 555, 470




